A particle of mass 'm' is projected on horizontal ground with an initial velocity of u me'akin'g an iﬂg'e
6 with horizontal . Find out the angular momentum of particle about the point of projection when .
(i) it just starts its motion

(i) it is at highest point of path.
(iii) it just strikes the ground.
Solution :

(i) Angular momentum about point O is zero.

(i) Angular momentum about point A. T
L=Fxp AP UCOSO
L =H x mu cose ﬂ \
u?sin?@ " Q R i_B'
L = mu cosb 29 Ans, usine

(iif) Angular momentum about point B.
L =R x mu sin@
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mu sin 6 y__sg___ . Ans,




{ "type": "Document", "isBackSide": false }

